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Directions (1-5): <19 f&am ar ITw 5 9 & Aakash 3R FIIT JEE | 11T Uted S<hof
P et faenfdal ot w@m gxifar 3.
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Q1. afe ad¥ 2015 ® FIT JEE | 11T JEE ¥ IufRy faenfdal &1 dwm, auf 2014 A FiT
JEE ¥ SufRyd faenffay &t w=m @ 209 3iftre . 3R avf 2014 ® 1T & f€ FuT JEE
| pa Iufyd faenfiai & & 0.6% o1 3ol gu. af ¢ 2015 F FiT JEE & Ihiof

ufa=ra 31d ST,

(a) 0.15%
(b) 0.7%

(d) 0.2%

(e) 0.4%
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Q2. 94 2012 3 2016 A TH-HTY ATHT | Iivf B4 arat faemef, auf 2013 sfiv 2014
A -1y FIT JEE A Il 819 ara faenfiay @ feaa ufawra w9 82

(a) 20%
(b) 12%
(c) 25%



(d) 16%

(e) 8%
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Q3. afe T 2012 3R 2016 # 3MHTRT A I<ivf wigar Snfiear, Hur: I af goy
Irfiear] &t a1 | 20% 3 40% FH § d1 2012 3R 2016 H TH-TY SATHI |
Idivf 11 aTat [oU SWIGaR] &1 Il Afgar Iufigart | Srurd J1d Sifor.

(a) 25:17

(b) 15:23

(c)19:25

(d)31:19

(e)26:19
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Q4. FIIT JEE ¥ 2012, 2014, 2015 § =il faenffay &t eiya e oiv s |
2012, 2014, 2016 ® Ixirof faenfiay &Y sia U2 & A 3id” J1d Hiferu.

(a) 115

(b) 74

(c) 80

(d) 97

(e) 63
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Q5. afe U a9 FiIT JEE A Il IFEaRY BT 40% 3R 3mepT=r | Ixiivf Iwfieary
BT 60% AfgATd 8, at 9 2015 & FIIT JEE | 3R af 2013 H 311 A Il Yoy
SHIGIR] P =T BT IR JTd BT,

(a) 174

(b) 256

(c) 241

(d) 192

(e) 22M
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Directions (6-10): Frafefad URER ] H Tdd UG JId PIfere-



Q6.196, 168, 143,120, 99, 80, 63
(a) 168

(b) 120

(c)99

(d) 196

(e) 143
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Q7.3, 5, 14, 48, 200, 1008, 6072
(a) 200

(b) 1008

(c) 14

(d)5

(e) 6072
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Q8. 2, 6, 24,96, 285, 568, 567
(a) 285

(b) 24

(c) 567

(d) 2

(e) 568
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Q9.32, 16, 24, 65, 210, 945, 51975
(a) 945

(b) 16

(c) 24

(d) 210

(e) 65
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Q10.7, 13, 25, 49, 97, 194, 385
(a) 13
(b) 49
(c)97



(d) 194

(e) 25
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Directions (11-15): 19 RE MW IR W & 6 TiermaiY 31ufeq (A, B, ¢, D, E 3R F) # BT
3R e &1 oo A= @RI TUC A ) aur a1 R e d g R A A FA &
w1 o1 ufo=ra g=ifar war 8-
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Q11. T A T fAf3a sue & (ufa=rd yfaad) R I1URoT TS UeH &t §. afe
TIoHT A & 4 99 a1 R oiv e gRT SifSfa oo el & Heg &7 SiTR 4435.20 0@

2, df sa1eT &¥ (wfersra wfoa) et 2

(a) 17.5

(b) 18

(c) 16.5

(d) 20

(e) 15
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Q12. F¥am gRT QST C 3R E H Ush-T1y T fa=r i ayr 34T 6 aierAn | e
R1 A% 9t 15 oo A & 7 BT HHR: U fHa-n 82

(a) 31: 44



(b) 31:42

(c) 27 : 44

(d) 35:48

(e) 29:38
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Q13.afe TieT C, 12% Ufdad W= =shg ¥ saret (@it Tuifor) weM &=l 3, af 2 ad
¢ g1 C | fear SR diem gr sifsta sarer & e faraar oiav 82

(a) 1628.16 U

(b) 1584.38 4

(c) 1672.74 ¥4

(d) 1536.58 0

(e) 1722.96 =T
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Q14. SY&m A AT F A 4 99 & fore fAawr foa, afe o= F ugs € auf & foe 7%
yferad W AR 1o (@1 HAfor) Ue HRdl g auT die ok 91 a9 & firg
10% Afaad W Tshgfy e (@i Jaiford) uer &t 8, ot 4 adf arg e gRI
3ifofa sarer fsar gim»

(a) 13548.64 T4

(b) 13112.064 =04

(C) 12242.5 T0Y

(d) 12364 =T

(e) 11886 =04
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Q15. R gRT gieAT G ® e 91 w8 f1, 39& gRT A1 8 A w1 g afr &
UM 8. o1 G 3R B &) TSl R JHH 8. Had 3R 3d-1 8 P T G Iwpafas
TS (@Y TASTd) YT BdT 8, STdfe TIST B AIYRUT SITSl Y- &dl §. afe 2
aﬁaﬁéﬁmmaﬁfuﬁwmmm%qmmmsmgz g AN R

(a) 9%
(b) 5%
(c) 13%



(d) 11%

(e) 7%
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Solutions

S1. Ans.(c)

Candidates qualified from FIIT JEE in 2014 = 300
So, candidates appeared from FIIT JEE in 2014 =

300

— % 100

0.6

= 50000

Candidates appeared from FIIT JEE in 2015

= 50000 X —= = 60000

100
. _ 320 _

Sol. Required percentage = 0000 »x 100 =0.53%
S2. Ans.(d)

Sol.

Candidates qualified from Aakash in 2012 and 2016
=180+ 240 =420

Candidates qualified from FIIT JEE in 2013 and 2014
=200+ 300 =500

, 500 - 420
Required percentage =

500

X 100 = 16%

S3. Ans.(a)



Let no. of male candidate in 2012 =x
ATQ,
80 _
x+ Too #*x =180
x=100
so, male candidates in 2012 from Aakash = 100
female candidates in 2012 from Aakash
=180 -100=80
Let no. of male candidate from Aakash in 2016 =y
ATQ,

a0

Y+ 1oy =240

vy =150

So male candidates of Aakash in 2016 = 150

Female candidates of Aakash in 2016

=240 -150=90
Required ratio = (1o0+150) _ ﬂ
BO+90 170
Sol = 25: 17
S4. Ans.(c)

Sol. Average student [JHGINMGSHEOM F1IT JEE in 2012, 2014, 2015

_260+300+320

_ 880

3
Average student _ Aakash in 2012, 2014, 2016

_180+220+240 _ 640
= 3 =

Required difference = % - %
=22=80
3
S5. Ans.(b)
Qualified male from FIIT JEE in 2015
&

=0 x320=192
100
Qualified male from Aakash in 2013
=22 x 160 = 64

100

Required no. of candidates = 192 + 64 = 256

Sol
S6. Ans.(d)
The pattern in the series will be
195 168 1435 120 99 a0 hi3
I I | [ I I I
7 25 23 21 149 17

- Wrong term is 196
Sol.



S7. Ans.(b)
Wrong number = 1008
The pattern of series -

3x1+2=5
Sx2+4=14
14 =3 +6=48

48 x4+ 8 =200
200%x 5+ 10=1010
1010 =6 +12=6072
o). 1010 should be place of 1008

S8. Ans.(b)
Wrong number = 24
The pattern of series -
xb6-6,x5-5x4-4x3-3,=x2-2
Sol. 25 should be place of 24

S9. Ans.(e)
32 16 24 60 210 945 51975
T 1
x0.5 =15 =25 =35 =45 =55
65 is written in place of 60.

Sol

$10. Ans.(d)
7 13 25 49 97 193 385

S I | A | |
+6 +12 +24 +48 +96 +192
194 is written in place of 193.

Sol

S11. Ans.(c)
Amount invested by Richa in scheme A
= 5444 of 84000
= Rs. 45360
~ Amount invested by Diksha in scheme A
= 84000 - 45360
= Rs. 38640
Let the required rate be r% per annum. Then,
_45360xrx4 38640xr=4 — 443520

100 100
= 6720 X r X 4 = 443520

Sol. = r=16.5%

S12. Ans.(a)



Sol.

Required ratio = (Total amount invested by Richa in schemes C and E together) : (Total
amount invested by Diksha in schemes C and E together)

= (40% of 32000 + 42% of 64000): (60% of 32000 + 58% of 64000)

=39680: 56320 = 31: 44

S13. Ans.(a)

Sol.

Difference of amount invested by Richa and Diksha in
Scheme C = 60% of 32000 - 40% of 32000 = 20% of 32000
= Rs. 6400

~ Required difference in their interest

1247

= 6400 (1 +—) — 1| = 6400 x 0.2544
100

= Rs.1628.16

S14. Ans.(b)
Amount invested by Diksha in investment F
= (100 - 64]) % of 96000 = 36% of 96000 = Rs. 34560
Then, total interest earned by Diksha after 4 year‘s

= 22T 4 (34560 + ST of first 2 years) [ 1+ m - 1]

Spol, = #638.40 + 8273.664=Rs. 13112.064

S15. Ans.(a)
Amount invested by Richa in each of scheme G and B
= 60% of 72000 = 43200
Let the rate of interest be r% per annum.
Then, accarding to the question,

C]—S[—

4320[} X r?

349.92 =
10072

or, 7> = 81

Sol sor =004



